EARAROBREBRT —5 XN—ZXBISH—F

2021€£10827H (k) 15@P95028

ﬁt%JHL, Lobish] B4 HSH—Ig EREE N EEDE
[xE%] 1 & :550,000H  23%&:154,000F  3&:116,000 ™ . 43%&:77,000 @ 5 3&:38,000
B\ RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
1lsl5|9T5—K 3 glg’n‘gEEE 1:( 12).5 32 373 - | 2 | 506 Qﬁ% )
. - _ =) e
RPAINTPFF— 8RRV pILITAY =
217] 9| ROI—2FIL i 3 gﬁﬁ% 1:(12).9 1-1 38.7| — 1 478 ?‘uﬂ%%— (6[#i3<))
: 2 = N
R:UAVF4—R B:AX—bhY+vT— -2) BRAE  AEBUS
317110 TIJRI—Z%— v 5 %KODX%@J (1:13.2) 10-9 36.3] — 6 506 ﬁ%it@ (tEE)
= . 11/2 BT
RIIZARIT—IYF— B:Y—VE—=NvT ¢6) Bé%%lzi%
4lgl| =7V 7 g‘%ﬁj& 1:(13).4 9-7 3.7 — 4 | 49 g%%% (6[#::3=))
: 1 =]
RADTITN—RY BiH—RYw KD | s
5 3| vL=FONU— i 4 %Jéﬁ%?% (1:13.27) 7-6 37.2| - 8 | 472 %ﬂfgﬁi m(;g’giﬁ)
. 11/ z
R h—tYRTLRY B:yvoO/sU— @2 | cimgis
ARPEZ E4VA 7 g“a;ﬁ%%Z (1:14.(; 1-9 [37.0 — | 10 | 45% i%“ﬁ%é (imE)
. 11/2
REWITL—l B:F3ITARE O 5% 2=
= 3 it 4 | BHFE 1:14.0 6-5 379 - 7 | 472 |EHEE (UEE)
7 8 12 T“J?jj_?\‘y '\ 54.0 (79<) BHE
RNV B e YT~ LY ’ 10| g i
N # o4 | ATEZE 1:14.1 4-4 38.6| — 3 494 | NIEFEA (timE)
X:Speightstown £F:Bryan’s Jewel Timber Town Stabl
P2 TYU—FAZ i 7 Eﬁg‘%@m 1:(1@.3 12-11 |37.0| - 9 | 454 %?(Jﬁlklgg’i_(ggﬁﬁ)
: 1 Sc4
RFAPIITRS B:OVIETRUT O \omus
TR _ s 5 | BT 1:15.0 2-2 4.6 — 5 516 | M\ERT (ObiEE)
HE—XXEY 55.0 3) o |ESE
R:7AIVNI7FHY— 8:0VITETRUT SPERUS
SwEr—Xyt— 5 | BREL 1:(16).0 771393 — | 12| 450 Eéﬁg (eim8)
. 5) = =
RIART—ILYF— B v RAytE—Y 2 |0 HE
7—IJLEw ~ Y 6 g’u‘g‘éé 1( :16.; 5-7 4.0 - 11 | 458 T\%g—ﬂéjbﬁﬁ)
: Je FRE—]
RiXAYIOR—5— B:R—S—yz—V ) W &%
@ 1—F—&BIEL
13—7+—
20—7F—
30—7— 9,4,5,8,2,12,(1,3),11,10,6,7
43—F— 9,(4,5,8,12,3,(2,11),(6,10) , (1,7)
o ILRE
B s 5 2804 AR 5-9 220M4 % 3= 5-7 420 3EE 5-9-10 3,440H
B B 5 110/ 5-10 900MH Fs E 5-9 430 3EH 5-9-10 10,160/
9 140M4 9-10 1,430/ B8 5-9 920
10 480M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




